Lubricar Inc. Protocol


	Title
	50. Jiffy Math / Revenue Per Man Hours / Labor Hour Per Vehicle

	Objective
	To insure accurate counts when receiving or counting inventory.  Allow managers to monitor RPLH and LHPV to help control cost.

	Responsibility
	Station Managers, Assistant Managers, Crew Members.

	Steps
	1. 4 Quarts = 1 Gallon.

2. 1 Quart = 2 Pints.

3. 16 Gallon Keg = 64 Quarts = 128 Pints.

4. 55 Gallon Barrel = 220 Quarts = 440 Pints.

5. 5 Gallon Pail = 20 Quarts = 40 Pints.

6. Antifreeze should be received at 440 Quarts.  This includes 55 Gallons of Antifreeze (+) 55 Gallons of water (=) 110 Gallons (x) 4 Quarts (=) 440 Quarts.

7. To obtain proper tank volumes for all square and rectangular tanks, use the following formula:  (Width inch (x) Height inch (x) Length inch Divided by 231 = Capacity in gallons.

8. To calculate Labor Hours Per Vehicle: Total Cars Divided by Total Labor Hours = LHPV.

9. To calculate Revenue Per Man Hour:  Net Sales Divided by Total Labor Hours = RPLH 
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